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. An electron of speed 3 x 10° m/s enters a region of constant electric field at an angle of

40° as shown in Fig. 1. How far away from where the electron enters will it strike the

bottom plate? (15%)

(_\‘/< 40°

Fig. 1

. A bullet, mass 18g, strikes a ballistic pendulum (see Fig. 2) whose target block has a mass of
1.8kg. The block is observed to rise to a height of 4.5 cm. What was the bullet’s speed?

Fig. 2 (15%)

Please describe the Kepler’s Laws of Planet. (10% )

Please describe the Second Law of Thermodynamics. (10% )
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